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Antal procent (antal saknas)

x 40% = 38.8

x30% =72

x 50% = 40.5

x 70% = 69.3

x 10% =2.9

x 40% = 23.6

x 60% = 60

x 10% =4.3

x 80% = 80

x30% = 4.8
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Datum:

x 70% = 21

x 80% = 46.4

x 80% = 13.6

x 80% = 24

x60% = 2.4

x 30% = 5.7

x 10% =9.3

x 60% = 12

x30% =24

x70% =154
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Antal procent (antal saknas)

namn:

97 x 40% = 38.8

24 x30% = 7.2

81 x 50% = 40.5

99 x70% = 69.3

29 x10% = 2.9

59 x 40% = 23.6

100 x 60% = 60

43 x 10% = 4.3

100 x 80% = 80

16 x 30% = 4.8

Datum:

30 x70% = 21

58 x 80% = 46.4

17 x80% = 13.6

30 x 80% = 24

4x60% =24

19 x30% = 5.7

93 x 10% = 9.3

20 x 60% = 12

8 x30% =24

22 x70% =15.4
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Poéng:
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